Efficiency vs dr

o
&

0.45

efficiency vs AR
o
i

©
O w
w

DDDODD:
3333

i

1078 1072

[ Efficiency vs dr (track,jet) |

)

1
TP min AR

EO.OS
.045
£
x
<l0.04
9.035
3
=0.03
Q
i15=6.025
3]
0.02
0.015
0.0
0.005
1.

Ratio
N

0.95

1072

=
S
w

Efficiency vs pu

1
AR(TP, jét)

-1

-0.05
o
9.045
30.04F-
)
"0.035F
=
©0.03F
0.025F
0.02F
0.015F
0.01

...................

QP

...................

...................

..................

0.005E-

Ratio

1.1

1

N
(=]

0 100 120 140

Pileup

[ fake+duplicates vs AR |

1

0.8

0.6

0.4

fake+duplicates rate vs AR

0.2

-] sel-newgeom
Ste| ar-ppase.l-|
€ ar-pnase,t-|
—Siepg_tipar-pnaset-|
e tbar-phasel-

1
track min AR

[ fake+duplicates vs AR(track, jet) |

- 0.5
2
~0.45
£ 04
[
<0.35

trac

4
o 03
€0.25
%)
[
% 0.2
kS]
20.15
S
% o
X
£0.05
o 0
T
v
1
0.95

1072 107"
AR(track, jetg)

[ fake+duplicates vs PU |

0.8

o
3

o o
[ )

Iy

fake+duplicates rate vs PU
o

W

0.3F
u + "
0.2:_ ....... *.*.?‘. .....................................
(5 AU TR FIRS SOUSUI SOOI A
aF [P AP R I |
O +W b
IS r ] : :
2 L 1 g 3
L
095570 60 80 100 120 T40

Pileup



	Contents
	Page 1


